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1/23 - Shopping and Reducing/Enlarging Problems

Three bunches of cilantro cost $5. How
many bunches can you buy for $107?
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If vou can buy eight bunches of seedless red

grapes for $20 then how many can vou buy
with $107?
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If you can buy three mangos for $2.70 then
how many can you buy with $10.80?
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If you can buy eight bags of yellow onions o8
for $15.12 then how many can you buy with

$3.78?




Amanda reduced the size of a photo to a
height of 4 in. What is the new width if it

was originally 12 in wide and 16 in t3]]?
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A triangle is 2 in wide and 1 in tall. Ifitis
enlarged to a width of 8 in then how tall will
it be?
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Daniel reduced the size of a photo to a width
of 3.1 in. What is the new height if it was
originally 8.4 in tall and 18.6 in wide?

— B4 -
W O\R.eY 6. (7

RY =
GI
\q7 = X

6

79| -
o

%




HOME@ORK

VNE @orksuzet

Poe




